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orE s S 2 &3 6,638,996 8,893,992 A 2,254,996
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< 3,859
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S e 2,161,996 2,580,992 A 418,996
< 3,859
[ia 2,158,137
H& the 2el 200,000 295,000 295,000
201 et 25,000 25,000 0
01 At 22l 20,000 20,000 0
OzZd 7zt ME&ag T4 X2 20,000
02 =224l 5,000 5,000 0
OBl KX Zelbl(&I], 45, 22) 5,000
206 = Hl 95,000 125,000 230,000
01 M2 4l 95,000 125,000 230,000
OM&Es g3tzs & 23 72 60,000
OM&Jl & 223 F¢ 30,000
OZcH=0L ¢ 100& x50, 0000H 5,000
02 OI=L o243 65,000 130,000 A 65,000
02 QIZHoITHH K EF S 2= 65,000 130,000 A 65,000
OM4&ZY oAl S 65,000
307 212+0 & 15,000 15,000 0
06 283 15,000 15,000 0
OM&EXAX B 15,000
A8y gt 5,000 5,000 0
202 044l 2,500 2,500 0
01 = LH o4 1l 2,500 2,500 0
OH&dd R 2,500
203 ¥ S =&l 2,500 2,500 0
03 AIZ=XH 2 =AH| 2,500 2,500 0
OAHLHF AIHFA 2,500
ERUSHE 29 1,079,860 1,247,860 A 168,000
101 14 Hl 200,000 150,000 50,000
04 JIZHHZ22XEE S 200,000 150,000 50,000
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OR& el S| 8,0002 +8 110 7,040
02 BBl 101,600 141,600 40,000
ogmes, 24)| KA 2e 50,000
O0ZIl KX 22| 3,000
OZSXY KA 300,0002! * 1294 & 3,600
OE2E4 Xz 20,000
OM&Il ¥ &Z)| R 5,000
OXIFEHNAIL SK22 20,000
206 TH 2t 15,500 15,500 0
01 HEHI 15,500 15,500 0
OEZAM2IRE Ha7Y 10,0002 ¥500 5,000
OE2SZ=78 0tA2 PY 21,0008 «500% 10,500
401 AlEH 22 OhYI 600,000 910,000 A310,000
01 Al&tl 600,000 910,000 £310,000
OEE2DE AHMAIES BHl L 24 100,000
OFE MMM U ARDAHFAIL FH| 500,000
—JIEYYS AHAIN 130,000
—CRIAMLTA 300,000
~DIEYRE L ERES 70,000
405 Xt &k S 137,000 5,000 132,000
01 KAt S Z 3 S| 137,000 5,000 132,000
O 228 FHPY(2IZH, E) 137,000
IBRMA e 58,000 58,000 0
201 Lgr2 Y| 8,000 8,000 0
01 Ak 22l 8,000 8,000 0
O=g 2 SJ)l4+48 S 8,000
401 Al HI L 2 Tl 50,000 50,000 0
01 Al& 50,000 50,000 0
OHIYHEEZZ AKX DIZEX e 50,000
S8 IIZS XNIAY 811,920 938,420 126,500
201 Lete | 33,920 33,920 0
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01 AFR2 22l Yl 3,920 3,920 0
ONgs ¢ 1,000
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OJt2s 2408 &Ad5 2 500
OJtgs B8 Z | 8,000& x 1% 240 1,920

02 3524t 30,000 30,000 0
OZ3&axXY MIIRRa S 20,000
OEXE FA22 10,000

206 T2 HI 200,000 200,000 0

01 = bl 200,000 200,000 0

OJRE SANESL ARE P (LEDHZ, ot A
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401 AIEHIL 20| 578,000 704,500 AN 126,500

01 Al &bl 575,000 701,500 AN 126,500
OLs JI2(EH)S HHEIAZ(A) 400,000
OLED JI28 AM&EAY 100,000
OdZ HIIS Mel(HEHE , +288) 75,000

03 AlE 201l 3,000 3,000 0
OL% JI2(E02H)E FHl L AEAY 3,000

CRISHN 2Y(23F) 7,216 6,712 504
& 3,859
= 3,357

101 @121l 7,216 6,712 504
& 3,859
= 3,357

04 JI2ZtH 22 XNEE 7,216 6,712 504
OZ& NS A 22 7,216
& 3,859
= 3,357

T 2EEFE M 4,477,000 6,313,000 A 1,836,000
= 50,000
= 4,427,000

SHETZTZ W ST E 1,170,000 1,170,000 0

401 Al HI L 2 THHI 1,170,000 1,170,000 0

01 A& bl 1,163,500 1,162,620 880
O==20I2&X Y 70,000
OR=sH sHEEZZ SIHBA 596,500
ozgd sHERT ST S A 199,000
O SHEEZZ SIHIBA 298,000

03 Al& 201 Y] 6,500 7,380 A 880
OFRSH sHEZZ SZEIAM 3,500
O2geNH sHEEZZ SIZHBA 1,000
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=& g S2F 2,507,000 1,863,000 644,000
202 o4dl 1,000 1,000 0
01 = LH o4 1l 1,000 1,000 0
Oz=&EHg gR=ad 1,000
401 AIEHI L 2] 2,506,000 1,862,000 644,000
01 A& tl 2,492,000 1,851,400 640,600
Ozt & sHEEZ RX2e2 300,000
OFD-EH2 2& SHZHIA 895,000
Osd-ZAH2t 2= SZEHIA 403,000
Y~ S22 LS A 496,500
O=240t2 & 2= SZHIA 397,500
03 AlE 2 THHI 14,000 10,600 3,400
OFD-EH2 2& SHZHIA 5,000
Os&-2AH2t 2= SEZHEIA 3,000
OZY~AS2 ML S A 3,500
O=2¢40t8 & 25 SZHIA 2,500
CEEDY A 150,000 150,000 0
401 AIEHI L 20 150,000 150,000 0
01 A& tl 150,000 150,000 0
Oug @z B 150,000
ot E A 50,000 50,000 0
401 Al HI L =2 Tl 50,000 50,000 0
01 A& HI 50,000 50,000 0
OgZE2AcANLs HEEFH 50,000
AEE=Z2 ML 600,000 2,900,000 A 2,300,000
= 50,000
e 550,000
401 Al HIZ 201 Y] 600,000 2,900,000 A 2,300,000
= 50,000
s 550,000
01 A& HI 595,900 2,888,288 AN2,292,388
O2g~s2t A2 AL M 496,500
OotHXE g2 d8MAAS 99,400
= 50,000
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03 A& S THHI 4,100 11,712 NT,612
O2g~sg2t A2 AL M 3,500
OotHXE g2 d8MAAS 600
AN LEMA & 4,804,500 5,435,000 A 630,500
< 110,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
S AIH & 22 1,556,000 1,486,000 70,000
101 @14 Hl 5,000 5,000 0
04 JIZHHZ2XNEE S 5,000 5,000 0
OZHEANE HN=&2Y 22
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201 Let249] 25,000 25,000 0
01 At 22/l 25,000 25,000 0
OZAAE dM2310= 10,000
OZ23d=0t 24 15,000
202 44l 6,000 6,000 0
01 S LHOIYI 6,000 6,000 0
OMNLH 2SI XA Kb 4,500
OE2EEd It E8XXEA (bl 1,500
207 A RO 200,000 0 200,000
01 A3 39| 200,000 0 200,000
Oz 2clH& IS4 200,000
401 Al HI L = Tl 300,000 800, 000 500,000
01 A& HI 300,000 800,000 A 500,000
O2E AMEZ2 NS3HALS 300,000
403 MtXISHHE A0l & 1,020,000 650,000 370,000
02 S 2SO HEAHE R 2 E AL H 1,020,000 650,000 370,000
OZE MEZ XSSAE 1,020,000
AR (BX) 1,000,000 3,059,000 2,059,000
s 400,000
[ia 600,000
401 AIEHI L 2 CHYI 1,000,000 3,059,000 A 2,059,000
s 400,000
[ia 600,000
01 A& HI 993,700 3,048,888 A 2,055,188
O M=% cl2gE A 993,700
s 400,000
i 593,700
03 AlE SR THHI 6,300 10,112 N 3,812
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03 AIE2 2 THHI 10,000 10,000 0
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AAZ TAHEFEMA(PIS)RAES 38,000 38,000 0
201 £B-2d| 38,000 38,000 0
02 3323l 38,000 38,000 0
O2aZ ZTAHEZENAH OB & 3t 22,000
OUPIS 2Z&Hl SA&2 16,000
&2 AEHE LAY 81,000 81,000 0
201 Let24d] 1,000 1,000 0
02 =224l 1,000 1,000 0
OXEN SBIIFLI RS 1,000
307 g2+l & 10,000 10,000 0
05 RIZIRI & 3 10,000 10,000 0
OH&ZRENZ 2EdH 29 10,000
401 Al Bl 2B 70,000 70,000 0
01 A& HI 70,000 70,000 0
O8&ZXENE RAEF=ALEY 70,000
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< 10,000
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s 24,000
OZANTHMIAHE QIIRES 200,000
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307 gl2tol & 150,000 0 150,000
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< 2,000,000
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EXN: A4
BE: MIIES CABSH X4
CHRl: T AID|BHAIAE &= (2 &HH)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@i HRE2
o 1,175,403
03 AlE 201 | 8,597 0 8,597
OXINK T TAMM SHSAS 8,597
TATHA CIMAIH (EX) 1,500,000 0 1,500,000
Fag 900,000
= 150,000
= 450,000
401 Al HI L £ 0HHI 1,500,000 0 1,500,000
g 900,000
& 150,000
= 450,000
01 Al& H| 1,494,600 0 1,494,600
OLERXN T S AIMHAM QIA™AA 1,494,600
g 900,000
& 150,000
= 444,600
03 AlE 201 | 5,400 0 5,400
OLLERXNT S AITHA O™ AL 5,400
FEHCHT =4 600,000 0 600,000
401 AlEHIZL £ 0HY| 600,000 0 600,000
01 Al& 600,000 0 600,000
OYa MY Zeheil X4 600,000
SHMA JIBHHIAH &5 9,699,410 9,966,235 A\ 266,825
= 2,178,000
= 1,509,600
= 6,011,810
SHsE MED|IBFXH 9,699,410 9,966,235 A\ 266,825
= 2,178,000
= 1,509,600
= 6,011,810
AR F=2lAIE HES 734,000 684,000 50,000
201 et Y| 34,000 34,000 0
01 AP 2t 2] H| 31,000 31,000 0
O=xclAld MaHug HH L=
500,000 x603! 30,000
OJletxEY HRFA 1,000
02 =224 H| 3,000 3,000 0
O%£)| FAEE 300,000 = 109K 3,000
401 AlEHIZL 2 0HY| 700,000 600,000 100,000
01 Al& H| 695,590 596,220 99,370
OFelANE (MR, 4=, =X, 2D,
242 S) FAE4 2 FHH| 495,590
OIS ALA 100,000
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2N AL
M HMA JIBHHIAH &5
Sl SesE MEIINEY CER-ED
(o
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
Oz=&2l M=X EX)| & &y 100,000
03 Al& 20| 4,410 3,780 630
OAMEBX £=ClAIZIHE % 700,000,000 *0.63% 4,410
s8Er+ A2 95,000 95,000 0
201 gBt2Ay| 20,000 20,000 0]
01 AFR 2t 2| 4| 20,000 20,000 0
OsgEas 2T ANE 125,000& 16004 &~ 20,000
401 AlEHIZL £ 0HY| 75,000 75,000 0
01 Al&H| 75,000 75,000 0
Os8E4 6lIAE AZE22 & Xotx=HEex
At 75,000
AN AlA HE %= 1,553,160 1,623,985 NT0,825
401 AlEHIZL 2 0HY| 1,553,160 1,623,985 NT0,825
01 A& H| 1,547,695 1,618,160 NT0,465
O3 RAUES 444,535
OF OlSAME (22, S93 &) A2/ 200,000
(@FE= R PsIy/i=1; 38,160
O=8gE&HNY 495,000
O2d HoME 350,000
OXNYXotE2=AL(BEZA=A )L
10,000,000 *2JH A~ 20,000
03 AlE 21| 5,465 5,825 A 360
OZZIMLY ANES2 HES
1,518,000, 000%0. 36% 5,465
SEIMAEAIE 200,000 300,000 A 100,000
402 SI2FAHE0| & 200,000 300,000 A 100,000
01 BIZtXIE ALY E X (XM TH) 200,000 300,000 A 100,000
OSEY M AH 200,000
242 ALY 1,200,000 2,202,000 A 1,002,000
401 AlEHIZL 2 0HY| 1,000,000 2,002,000 A 1,002,000
01 Al&H| 1,000,000 2,002,000 A 1,002,000
O2tH4E= UMY 300,000
OBH==HE AFS 500,000
O2f 282 Stz JUIAY 200,000
403 XX SHHMS K201 A 200,000 200,000 0]
02 2I|2S0 et =22 EAIS Y 200,000 200,000 0
O=2tl£+2 SstAtY 200,000
Steiib S0 321,250 321,250 0
= 257,000
= 64,250
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2N
X ZH -
L= B

el

Fag=n;
SEML JIBHHH &5
SgsE& daligtxyd

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O&H 2Fe| sz2&2F 10,000
< 10,000
2Ilgt FHEHIAY 30,000 30,000 0
401 Al HIZ 2018 30,000 30,000 0
01 A& HI 30,000 30,000 0
ogllgr KX2el 30,000, 000 30,000
NESS22ML(HEALY) 1,000,000 786,000 214,000
401 AIEHI L 20 1,000,000 786,000 214,000
01 A& HI 993,700 781,048 212,652
OXNES+S LML A (&2 993,700
03 Al 2 THHI 6,300 4,952 1,348
OXESS2ML A (HE)
1,000,000, 000%0.63% 6,300
JIHSEEZ SHZEAD(MEAY) 428,000 428,000 0
401 Al HI K 201 428,000 428,000 0
01 A& HI 424,918 424,918 0
OJIASHE&Z St Z ALY 424,918
03 A& =2 THHI 3,082 3,082 0
OJIAHZBEHZ =L EALY  428,000,000%0.72% 3,082
ANZelAEHE S (HEA) 1,100,000 1,250,000 A 150,000
= 880,000
[ia 220,000
401 AIEHIZL 20 1,100,000 1,250,000 A 150,000
< 880,000
[ia 220,000
01 A& Hl 1,096,040 1,245,500 A 149,460
OAZelAIEHE AL 1,096,040
< 880,000
i 216,040
03 Al SR THHI 3,960 4,500 A 540
OAZ=elAMENE=AMY =& 3,960
BH ==OH & AL S 1,451,000 1,500,000 A 49,000
= 1,451,000
401 AIEHI L 201 1,451,000 1,500,000 A 49,000
= 1,451,000
01 A& tl 1,445,776 1,494,600 N 48,824
OSSN T h=H&AS 1,445,776
= 1,445,776
03 A& 2 THHI 5,224 5,400 A176
OZX 7 =AY =&
1,451,000,000%0. 36% 5,224
= 5,224
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